



Fekete-Szegö Inequalities for New Classes of Analytic Functions Associated with Fractional q -Differintegral Operator

K.A. Selvakumaran¹, M. Gomathi¹, Sunil Dutt Purohit^{2, *}, Devendra Kumar³

¹Department of Mathematics, R.M.K College of Engineering and Technology,
Puduvoyal 601206, Tamil Nadu, India

²Department of HEAS (Mathematics), Rajasthan Technical University,
Kota 324010, Rajasthan, India

³Department of Mathematics, University of Rajasthan, Jaipur, Rajasthan 302004, India

Received 22 August 2021; Received in revised form 25 November 2021

Accepted 02 December 2021; Available online 30 December 2021

ABSTRACT

The fractional q -differintegral operator defines two new subclasses of analytic functions in the open unit disc in this article. Fekete-Szegö inequalities are also derived for these newly defined subclasses.

Keywords: Convex functions; Starlike functions; Fractional q -calculus operators; Subordination; Univalent functions

1. Introduction and Preliminaries

The theory of fractional calculus has risen to prominence and acclaim in recent years, owing to its demonstrable breakthroughs in a variety of fields of science and engineering. Because of the widespread usage of the q -calculus in mathematics and physics, there has been a huge expansion in the quantity of articles written in this area recently. Inquisitive readers might consult the articles on the issue by [1–6] for further details.

Indeed, the first author of this paper examined some classes of analytic functions related with fractional q -calculus operators with Choi and Purohit in [7]. Several scholars have recently introduced new classes of analytic functions that are defined utilizing quantum calculus operators. We recommend that the reader consult the articles [8–14] and the references included therein for some new studies on the classes of analytic functions defined in combination with quantum calculus operators and related points. The goal of this paper is to

introduce two new classes of analytic functions defined using q -calculus operators and the notion of subordination in the open unit disc. Fekete-Szegő inequalities for functions belonging to these classes are also obtained.

Let $\mathcal{H}(a, n)$ represents the class of functions $f(\omega)$ of the type

$$f(\omega) = a + \sum_{p=0}^{\infty} a_{n+p} \omega^{n+p}, \quad (\omega \in \mathbb{D}), \tag{1.1}$$

that are analytic in the open unit disk $\mathbb{D} = \{\omega \in \mathbb{C} : |\omega| < 1\}$, and let \mathcal{A} be the subclass of $\mathcal{H}(0, 1)$ having functions in the type

$$f(\omega) = \omega + \sum_{n=2}^{\infty} a_n \omega^n. \tag{1.2}$$

The classes of functions in \mathcal{A} that are univalent, convex, starlike and close-to-convex in \mathbb{D} are represented respectively by \mathcal{S} , \mathcal{S}^* , \mathcal{C} and \mathcal{K} . Let $f_1(\omega)$ and $f_2(\omega)$ are functions analytic in \mathbb{D} . A function f_1 is subordinate to f_2 in \mathbb{D} , for the existence of an analytic function $\varphi(\omega)$ in \mathbb{D} with the condition

$$\varphi(0) = 0, \quad |\varphi(\omega)| < 1 \quad (\omega \in \mathbb{D}),$$

such that

$$f_1(\omega) = f_2(\varphi(\omega)) \quad (\omega \in \mathbb{D}).$$

This subordination is denoted by $f_1(\omega) < f_2(\omega)$. Further, if the function $f_2(\omega)$ is univalent in \mathbb{D} , then $f_1(\omega) < f_2(\omega) \quad (\omega \in \mathbb{D}) \iff f_1(0) = f_2(0)$ and $f_1(\mathbb{D}) \subset f_2(\mathbb{D})$.

Using the extended fractional q -derivative operator $D_{q,z}^\tau$, which was recently investigated in [9], a fractional q -differintegral operator $\Omega_{q,z}^\tau : \mathcal{A} \rightarrow \mathcal{A}$ is

defined as below:

$$\begin{aligned} \Omega_{q,z}^\tau f(\omega) &= \frac{\Gamma_q(2-\tau)}{\Gamma_q(2)} \omega^\tau D_{q,z}^\tau f(\omega) \\ &= \omega + \sum_{n=2}^{\infty} \frac{\Gamma_q(2-\tau)\Gamma_q(n+1)}{\Gamma_q(2)\Gamma_q(n+1-\tau)} a_n \omega^n, \end{aligned} \tag{1.3}$$

($\tau < 2; \quad 0 < q < 1; \quad \omega \in \mathbb{D}$),

where $D_{q,z}^\tau f(\omega)$ in (1.3) denotes, a fractional q -integral of the function $f(\omega)$ of order τ when $-\infty < \tau < 0$ (Refer: [18]) and a fractional q -derivative of the function $f(\omega)$ of order τ when $0 \leq \tau < 2$. Note $\Omega_{q,z}^0 f(\omega) = f(\omega)$.

The linear multiplier fractional q -differintegral operator $\mathcal{D}_{q,p,\lambda}^{\tau,m}$ determined recently by Selvakumaran et al. [23] as follows:

$$\begin{aligned} \mathcal{D}_{q,\lambda}^{\tau,0} f(\omega) &= f(\omega), \\ \mathcal{D}_{q,\lambda}^{\tau,1} f(\omega) &= (1-\lambda)\Omega_{q,z}^\tau f(\omega) \\ &\quad + \lambda \omega D_q(\Omega_{q,z}^\tau f(\omega)), \quad (\lambda \geq 0), \\ \mathcal{D}_{q,\lambda}^{\tau,2} f(\omega) &= \mathcal{D}_{q,\lambda}^{\tau,1}(\mathcal{D}_{q,\lambda}^{\tau,1} f(\omega)), \\ &\quad \vdots \\ \mathcal{D}_{q,\lambda}^{\tau,m} f(\omega) &= \mathcal{D}_{q,\lambda}^{\tau,1}(\mathcal{D}_{q,\lambda}^{\tau,m-1} f(\omega)), \quad m \in \mathbb{N}. \end{aligned} \tag{1.4}$$

If $f(\omega)$ is of the form (1.2), by (1.4) we have

$$\begin{aligned} \mathcal{D}_{q,\lambda}^{\tau,m} f(\omega) &= \omega + \sum_{n=2}^{\infty} \left(\frac{\Gamma_q(2-\tau)\Gamma_q(n+1)}{\Gamma_q(2)\Gamma_q(n+1-\tau)} \right. \\ &\quad \left. [1-\lambda + [n]_{q,\lambda}]^m \right) a_n \omega^n. \end{aligned}$$

More simply,

$$\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega) = \omega + \sum_{n=2}^{\infty} \Xi_{q,\lambda}^{\tau,m}(n) a_n \omega^n,$$

where $\Xi_{q,\lambda}^{\tau,m}(n)$
 $= \left(\frac{\Gamma_q(2-\tau)\Gamma_q(n+1)}{\Gamma_q(2)\Gamma_q(n+1-\tau)} [1 - \lambda + [n]_q \lambda] \right)^m$.

The operator $\mathcal{D}_{q,\lambda}^{\tau,m}$ reduces to many new and known differential and integral operators. Particularly, when $q \rightarrow 1^-$ and $\tau = 0$ the operator $\mathcal{D}_{q,\lambda}^{\tau,m}$ becomes an operator introduced in [19] and if $q \rightarrow 1^-$, $\tau = 0$ and $\lambda = 1$ it becomes an operator introduced by Sălăgean [22].

Let the subclass of functions ϱ be \mathcal{P} that are univalent and analytic in \mathbb{D} and for which $\varrho(\mathbb{D})$ is convex and $\varrho(0) = 1$, $\Re(\varrho(\omega)) > 0$ for $\omega \in \mathbb{D}$.

Definition 1.1. A function $f \in \mathcal{A}$ is called the class $\mathcal{S}_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ provided that

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} - 1 \right) < \varrho(\omega),$$

$(\gamma \in \mathbb{C} \setminus \{0\}, \varrho \in \mathcal{P}).$
(1.5)

Definition 1.2. A function $f \in \mathcal{A}$ is called the class $\mathcal{C}_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ provided that

$$1 + \frac{1}{\gamma} \left(\frac{D_q(\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)))}{D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))} - 1 \right) < \varrho(\omega),$$

$(\gamma \in \mathbb{C} \setminus \{0\}, \varrho \in \mathcal{P}).$
(1.6)

We can easily verify the following:

- (i) If $m = 0$, then $\mathcal{S}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{S}_{q,\gamma}(\varrho)$ and $\mathcal{C}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{C}_{q,\gamma}(\varrho)$, $(\gamma \in \mathbb{C} \setminus \{0\})$ (Seoudy and Aouf [24]).
- (ii) If $m = 0$ and $q \rightarrow 1^-$, then $\mathcal{S}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{S}_\gamma(\varrho)$ and $\mathcal{C}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{C}_\gamma(\varrho)$, $(\gamma \in \mathbb{C} \setminus \{0\})$ (Ravichandran et al. [21]).
- (iii) If $m = 0$, $\gamma = 1$ and $q \rightarrow 1^-$, then $\mathcal{S}_{q,\lambda,1}^{\tau,0}(\varrho) = \mathcal{S}^*(\varrho)$ and $\mathcal{C}_{q,\lambda,1}^{\tau,0}(\varrho) = \mathcal{C}(\varrho)$ (Ma and Minda [15]).

(iv) If $m = 0$, $\varrho(\omega) = \frac{1+(1-2\alpha)z}{1-z}$ and $q \rightarrow 1^-$, then $\mathcal{S}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{S}_\alpha^*(\gamma)$ and $\mathcal{C}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{C}_\alpha(\gamma)$, $(\gamma \in \mathbb{C} \setminus \{0\}, 0 \leq \alpha < 1)$ (Frasin [20]).

(v) If $m = 0$, $\varrho(\omega) = \frac{1+z}{1-z}$ and $q \rightarrow 1^-$, then $\mathcal{S}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{S}^*(\gamma)$ and $\mathcal{C}_{q,\lambda,\gamma}^{\tau,0}(\varrho) = \mathcal{C}(\gamma)$, $(\gamma \in \mathbb{C} \setminus \{0\})$ (Nasr and Aouf [16, 17]).

By making use of the following lemmas we are establishing our primary outcomes.

Lemma 1.3. [15] If $g_1(\xi) = 1 + u_1\xi + u_2\xi^2 + \dots$ is a function having positive real part in \mathbb{D} and μ is a complex number, then we get

$$|u_2 - \mu u_1^2| \leq 2 \max\{1; |2\mu - 1|\}.$$

For the functions $g_1(\omega) = (1 + \xi^2)/(1 - \xi^2)$ and $g_1(\omega) = (1 + \xi)/(1 - \xi)$ the result is sharp.

Lemma 1.4. [15] If $g_1(\xi) = 1 + u_1\xi + u_2\xi^2 + \dots$ is an analytic function having positive real part in \mathbb{D} , thus

$$|u_2 - \alpha u_1^2| \leq \begin{cases} -4\alpha + 2 & \text{if } \alpha \leq 0, \\ 2 & \text{if } 0 \leq \alpha \leq 1, \\ 4\alpha - 2 & \text{if } \alpha \geq 1. \end{cases}$$

When $\alpha < 0$ or $\alpha > 1$, the equality exists iff $g_1(\xi)$ is $(1 + \xi)/(1 - \xi)$ or one of its rotations. If $0 < \alpha < 1$, the equality exists iff $g_1(\xi)$ is $(1 + \xi^2)/(1 - \xi^2)$ or one of its rotations. If $\alpha = 0$, the equality exists iff

$$g_1(\xi) = \left(\frac{1 + \gamma}{2} \right) \frac{1 + \xi}{1 - \xi} + \left(\frac{1 - \gamma}{2} \right) \frac{1 - \xi}{1 + \xi}$$

$(0 \leq \gamma \leq 1)$

or one of its rotations. If $\alpha = 1$, the equality exists iff $g_1(\omega)$ is the reciprocal of one of the functions such that the equality holds for $\alpha = 0$. The upper bound mentioned above

is also sharp, and it can be enhanced as follows: when $0 < \alpha < 1$,

$$|u_2 - \alpha u_1^2| + \alpha |u_1|^2 \leq 2 \quad (0 < \alpha \leq 1/2)$$

and

$$|u_2 - \alpha u_1^2| + (1 - \alpha) |u_1|^2 \leq 2 \quad (1/2 < \alpha \leq 1).$$

2. Main Results

Theorem 2.1. Suppose $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If the function $f(\omega)$ determined by (1.2) belongs to $S_{q,\lambda,\gamma}^{\tau,m}(\varrho)$, then we get

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{q(1+q)|\Xi_{q,\lambda}^{\tau,m}(3)|} \max \left(1; \left| \frac{H_2}{H_1} + \frac{\gamma H_1}{q} \left\{ 1 - \frac{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right\} \right| \right).$$

The result is sharp.

Proof. Let

$$u(\omega) := 1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} - 1 \right) = 1 + b_1\omega + b_2\omega^2 + \dots \quad (2.1)$$

If $f \in S_{q,\lambda,\gamma}^{\tau,m}(\varrho)$, there exist a Schwarz function $\xi(\omega)$, that is analytic in \mathbb{D} with $|\xi(\omega)| < 1$ and $\xi(0) = 0$ in \mathbb{D} , in such a way that

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} - 1 \right) = \varrho(\xi(\omega)).$$

Since the function $\varrho(\omega)$ is univalent and $p < \varrho$, then the function

$$u_1(\omega) = \frac{1 + \varrho^{-1}(u(\omega))}{1 - \varrho^{-1}(u(\omega))} = \frac{1 + \xi(\omega)}{1 - \xi(\omega)} = 1 + c_1\omega + c_2\omega^2 + \dots$$

is the analytic function having positive real part in \mathbb{D} . Hence we have,

$$\begin{aligned} u(\omega) &= \varrho(\xi(\omega)) = \varrho \left(\frac{u_1(\omega)-1}{u_1(\omega)+1} \right) \\ &= 1 + H_1 \left(\frac{u_1(\omega)-1}{u_1(\omega)+1} \right) + H_2 \left(\frac{u_1(\omega)-1}{u_1(\omega)+1} \right)^2 + \dots \\ &= 1 + \frac{H_1 c_1}{2} \omega + \left[\frac{H_1}{2} \left(c_2 - \frac{c_1^2}{2} \right) + \frac{H_2 c_1^2}{4} \right] \omega^2 + \dots \end{aligned} \quad (2.2)$$

From equations (2.1) and (2.2), we get $b_1 = \frac{H_1 c_1}{2}$ and $b_2 = \frac{H_1}{2} \left(c_2 - \frac{c_1^2}{2} \right) + \frac{H_2 c_1^2}{4}$. On the other hand, since

$$\begin{aligned} \frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} &= 1 + q \Xi_{q,\lambda}^{\tau,m}(2) a_2 \omega + [q(1+q)\Xi_{q,\lambda}^{\tau,m}(3) a_3 \\ &\quad - q(\Xi_{q,\lambda}^{\tau,m}(2))^2 a_2^2] \omega^2 + \dots, \end{aligned}$$

from equation (2.1), we have

$$\gamma b_1 = q \Xi_{q,\lambda}^{\tau,m}(2) a_2$$

$$\gamma b_2 = q(1+q)\Xi_{q,\lambda}^{\tau,m}(3) a_3 - q(\Xi_{q,\lambda}^{\tau,m}(2))^2 a_2^2,$$

or equivalently,

$$a_2 = \frac{\gamma b_1}{q \Xi_{q,\lambda}^{\tau,m}(2)} = \frac{\gamma H_1 c_1}{2q \Xi_{q,\lambda}^{\tau,m}(2)},$$

$$\begin{aligned} a_3 &= \frac{1}{q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)} \left[\gamma b_2 + \frac{\gamma^2 b_1^2}{q} \right] \\ &= \frac{\gamma H_1}{2q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)} \left[c_2 - \frac{1}{2} \left(1 - \frac{H_2}{H_1} - \frac{\gamma H_1}{q} \right) c_1^2 \right]. \end{aligned}$$

Therefore,

$$a_3 - \mu a_2^2 = \frac{\gamma H_1}{2q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)} [c_2 - \nu c_1^2], \quad (2.3)$$

where

$$\nu = \frac{1}{2} \left[1 - \frac{H_2}{H_1} - \frac{\gamma H_1}{q} + \frac{\gamma H_1(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{q(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right]. \quad (2.4)$$

Thus, the result following the application of Lemma 1.3 and we observe that the functions defined by

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} - 1 \right) = \varrho(\omega^2)$$

and

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} f(\omega)} - 1 \right) = \varrho(\omega).$$

This completes the proof. □

For the function class $C_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ we have the accompanying outcome. The proof of the Theorem 2.2 is neglected as it is same to that of Theorem 2.1.

Theorem 2.2. Suppose $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If $f(\omega)$ defined by (1.2) is in $C_{q,\lambda,\gamma}^{\tau,m}(\varrho)$, then we get

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{q [3]_q! |\Xi_{q,\lambda}^{\tau,m}(3)|} \times \max \left\{ 1; \left| \frac{H_2}{H_1} + \frac{\gamma H_1}{q} \left(1 - \frac{(1+q+q^2)\Xi_{q,\lambda}^{\tau,m}(3)}{(1+q)(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right) \right| \right\}.$$

The result is sharp.

Substituting $m = 0$ in Theorem 2.1, we get the inequality for the function class $S_{q,\gamma}(\varrho)$.

Corollary 2.3. [24] Let the function $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If $f(\omega) \in S_{q,\gamma}(\varrho)$, then

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{q(1+q)} \times \max \left\{ 1; \left| \frac{H_2}{H_1} + \frac{\gamma H_1}{q} (1 - (1+q)\mu) \right| \right\}.$$

The inequality is sharp.

Taking $q \rightarrow 1^-$ in the Corollary 2.3, we get the inequality for the function class $S_\gamma(\varrho)$ which enhances the result of ([21], Theorem 4.1).

Corollary 2.4. Suppose $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If $f(\omega) \in S_\gamma(\varrho)$, then we get

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{2} \max \left\{ 1; \left| \frac{H_2}{H_1} + (1 - 2\mu) \gamma H_1 \right| \right\}.$$

The inequality is sharp.

Substituting $m = 0$ in Theorem 2.2, we get the accompanying corollary.

Corollary 2.5. [24] Suppose $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If $f(\omega) \in C_{q,\gamma}(\varrho)$, then we get

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{q [3]_q!} \times \max \left\{ 1; \left| \frac{H_2}{H_1} + \frac{\gamma H_1}{q} \left(1 - \frac{(1+q+q^2)}{(1+q)} \mu \right) \right| \right\}.$$

The inequality is sharp.

Letting $q \rightarrow 1^-$ in Corollary 2.5, we get the result for the function class $C_\gamma(\varrho)$.

Corollary 2.6. Let the function $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 \neq 0$. If $f(\omega) \in C_\gamma(\varrho)$, then we get

$$|a_3 - \mu a_2^2| \leq \frac{|\gamma H_1|}{6} \max \left\{ 1; \left| \frac{H_2}{H_1} + (1 - \frac{3}{2}\mu) \gamma H_1 \right| \right\}.$$

The inequality is sharp.

Theorem 2.7. Let the function $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 > 0$ and $H_2 \geq 0$. Consider

$$\sigma_1 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{q(H_2 - H_1) + \gamma H_1^2}{(1+q)\gamma H_1^2} \right],$$

$$\sigma_2 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{q(H_2 + H_1) + \gamma H_1^2}{(1+q)\gamma H_1^2} \right],$$

$$\sigma_3 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{qH_2 + \gamma H_1^2}{(1+q)\gamma H_1^2} \right].$$

If $f(\omega)$ given by (1.2) belongs to $S_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ with $\gamma > 0$, then

$$|a_3 - \mu a_2^2| \leq \frac{\gamma H_1}{q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)} \times \begin{cases} \frac{H_2}{H_1} + \frac{\gamma H_1}{q} \left(1 - \frac{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right), & \text{if } \mu \leq \sigma_1 \\ 1, & \text{if } \sigma_1 \leq \mu \leq \sigma_2 \\ -\frac{H_2}{H_1} - \frac{\gamma H_1}{q} \left(1 - \frac{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right), & \text{if } \mu \geq \sigma_2 \end{cases}$$

Further, if $\sigma_1 \leq \mu \leq \sigma_3$, then

$$|a_3 - \mu a_2^2| + \frac{q(\Xi_{q,\lambda}^{\tau,m}(2))^2}{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)\gamma H_1^2} \times \left[H_1 - H_2 - \frac{\gamma H_1^2}{q} \left(1 - \frac{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right) \right] |a_2|^2 \leq \frac{\gamma H_1}{q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}$$

and if $\sigma_3 \leq \mu \leq \sigma_2$, then we get

$$|a_3 - \mu a_2^2| + \frac{q(\Xi_{q,\lambda}^{\tau,m}(2))^2}{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)\gamma H_1^2} \times \left[H_1 + H_2 + \frac{\gamma H_1^2}{q} \left(1 - \frac{(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}{(\Xi_{q,\lambda}^{\tau,m}(2))^2} \mu \right) \right] |a_2|^2 \leq \frac{\gamma H_1}{q(1+q)\Xi_{q,\lambda}^{\tau,m}(3)}.$$

The result is sharp.

Proof. Using Lemma 1.4 to the equations (2.3) and (2.4), we can demonstrate our

outcomes. To show the sharpness of the bounds, we define $\mathcal{F}_{\varrho,n}$ ($n = 2, 3, \dots$) by

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{F}_{\varrho,n}(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{F}_{\varrho,n}(\omega)} - 1 \right) = \varrho(\omega^{n-1}),$$

$$\mathcal{F}_{\varrho,n}(0) = 0 = \mathcal{F}'_{\varrho,n}(0) - 1$$

and the functions \mathcal{G}_λ and \mathcal{H}_λ ($0 \leq \lambda \leq 1$) by

$$1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{G}_\lambda(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{G}_\lambda(\omega)} - 1 \right) = \varrho \left(\frac{\omega(\omega+\lambda)}{1+\lambda z} \right),$$

$$\mathcal{G}_\lambda(0) = 0 = \mathcal{G}'_\lambda(0) - 1$$

$$\text{and } 1 + \frac{1}{\gamma} \left(\frac{\omega D_q(\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{H}_\lambda(\omega))}{\mathcal{D}_{q,\lambda}^{\tau,m} \mathcal{H}_\lambda(\omega)} - 1 \right) = \varrho \left(-\frac{1+\lambda z}{\omega(\omega+\lambda)} \right),$$

$$\mathcal{H}_\lambda(0) = 0 = \mathcal{H}'_\lambda(0) - 1.$$

Clearly, $\mathcal{F}_{\varrho,n}$, \mathcal{G}_λ and $\mathcal{H}_\lambda \in S_{q,\lambda,\gamma}^{\tau,m}(\varrho)$. If $\mu < \sigma_1$ or $\mu > \sigma_2$, then the equality exists iff f is $\mathcal{F}_{\varrho,2}$ or one of its rotations. When $\sigma_1 < \mu < \sigma_2$, the equality exists iff f is $\mathcal{F}_{\varrho,3}$ or one of its rotations. If $\mu = \sigma_1$, then the equality exists iff f is \mathcal{G}_λ or one of its rotations. If $\mu = \sigma_2$, then the equality exists iff f is \mathcal{H}_λ or one of its rotations. \square

In the same way, we can get the inequality for $C_{q,\lambda,\gamma}^{\tau,m}(\varrho)$.

Theorem 2.8. Let the function $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 > 0$ and $H_2 \geq 0$. Let

$$\varepsilon_1 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2(1+q)^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{q(H_2 - H_1) + \gamma H_1^2}{[3]_q! \gamma H_1^2} \right],$$

$$\varepsilon_2 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2(1+q)^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{q(H_2 + H_1) + \gamma H_1^2}{[3]_q! \gamma H_1^2} \right], \text{ and } .$$

$$\varepsilon_3 = \frac{(\Xi_{q,\lambda}^{\tau,m}(2))^2(1+q)^2}{\Xi_{q,\lambda}^{\tau,m}(3)} \left[\frac{qH_2 + \gamma H_1^2}{[3]_q! \gamma H_1^2} \right]$$

If $f(\omega)$ given by (1.2) belongs to $C_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ with $\gamma > 0$, then

$$|a_3 - \mu a_2^2| \leq \frac{\gamma H_1}{q[3]_q! \Xi_{q,\lambda}^{\tau,m}(3)} \times \begin{cases} \frac{H_2}{H_1} + \frac{\gamma H_1}{q} \left(1 - \frac{[3]_q! \Xi_{q,\lambda}^{\tau,m}(3)}{(1+q)^2 (\Xi_{q,\lambda}^{\tau,m}(2))^2 \mu} \right), & \text{if } \mu \leq \varepsilon_1 \\ 1, & \text{if } \varepsilon_1 \leq \mu \leq \varepsilon_2 \\ -\frac{H_2}{H_1} - \frac{\gamma H_1}{q} \left(1 - \frac{[3]_q! \Xi_{q,\lambda}^{\tau,m}(3)}{(1+q)^2 (\Xi_{q,\lambda}^{\tau,m}(2))^2 \mu} \right), & \text{if } \mu \geq \varepsilon_2 \end{cases}$$

In addition, if $\varepsilon_1 \leq \mu \leq \varepsilon_3$, then we get

$$|a_3 - \mu a_2^2| + \frac{q(1+q)^2 (\Xi_{q,\lambda}^{\tau,m}(2))^2}{[3]_q! \Xi_{q,\lambda}^{\tau,m}(3) \gamma H_1^2} \left[H_1 - H_2 - \frac{\gamma H_1^2}{q} \left(1 - \frac{(1+q+q^2) \Xi_{q,\lambda}^{\tau,m}(3)}{(1+q) (\Xi_{q,\lambda}^{\tau,m}(2))^2 \mu} \right) \right] |a_2|^2 \leq \frac{\gamma H_1}{q[3]_q! \Xi_{q,\lambda}^{\tau,m}(3)}$$

and if $\varepsilon_3 \leq \mu \leq \varepsilon_2$, then we get

$$|a_3 - \mu a_2^2| + \frac{q(1+q)^2 (\Xi_{q,\lambda}^{\tau,m}(2))^2}{[3]_q! \Xi_{q,\lambda}^{\tau,m}(3) \gamma H_1^2} \left[H_1 + H_2 + \frac{\gamma H_1^2}{q} \left(1 - \frac{(1+q+q^2) \Xi_{q,\lambda}^{\tau,m}(3)}{(1+q) (\Xi_{q,\lambda}^{\tau,m}(2))^2 \mu} \right) \right] |a_2|^2 \leq \frac{\gamma H_1}{q[3]_q! \Xi_{q,\lambda}^{\tau,m}(3)}$$

The result is sharp.

Letting $q \rightarrow 1^-$ and $m = 0$ in Theorem 2.7, we get the accompanying outcome.

Corollary 2.9. Let the function $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 > 0$ and $H_2 \geq 0$. Consider

$$\sigma_4 = \frac{(H_2 - H_1) + \gamma H_1^2}{2\gamma H_1^2},$$

$$\sigma_5 = \frac{(H_2 + H_1) + \gamma H_1^2}{2\gamma H_1^2}, \quad \sigma_6 = \frac{H_2 + \gamma H_1^2}{2\gamma H_1^2}.$$

If $f(\omega) \in \mathcal{S}_\gamma(\varrho)$ with $\gamma > 0$, then we get

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{\gamma H_2}{2} + \frac{\gamma^2 H_1^2}{2} (1 - 2\mu), & \text{if } \mu \leq \sigma_4 \\ \frac{\gamma H_1}{2}, & \text{if } \sigma_4 \leq \mu \leq \sigma_5 \\ -\frac{\gamma H_2}{2} - \frac{\gamma^2 H_1^2}{2} (1 - 2\mu), & \text{if } \mu \geq \sigma_5 \end{cases}$$

In addition, if $\sigma_4 \leq \mu \leq \sigma_6$, then

$$|a_3 - \mu a_2^2| + \frac{1}{2\gamma H_1^2} \left[H_1 - H_2 - \gamma H_1^2 (1 - 2\mu) \right] |a_2|^2 \leq \frac{\gamma H_1}{2}$$

and if $\sigma_6 \leq \mu \leq \sigma_5$, then

$$|a_3 - \mu a_2^2| + \frac{1}{2\gamma H_1^2} \left[H_1 + H_2 + \gamma H_1^2 (1 - 2\mu) \right] |a_2|^2 \leq \frac{\gamma H_1}{2}.$$

The inequality is sharp.

Letting $q \rightarrow 1^-$ and $m = 0$ in Theorem 2.8, we get the accompanying outcome.

Corollary 2.10. Suppose $\varrho(\omega) = 1 + H_1\omega + H_2\omega^2 + H_3\omega^3 + \dots$ with $H_1 > 0$ and $H_2 \geq 0$. Let $\varepsilon_4 = \frac{2[(H_2 - H_1) + \gamma H_1^2]}{3\gamma H_1^2}$, $\varepsilon_5 = \frac{2[(H_2 + H_1) + \gamma H_1^2]}{3\gamma H_1^2}$, $\varepsilon_6 = \frac{2[H_2 + \gamma H_1^2]}{3\gamma H_1^2}$. If $f(\omega) \in C_\gamma(\varrho)$ with $\gamma > 0$, then we get

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{\gamma H_2}{6} + \frac{\gamma^2 H_1^2}{6} \left(1 - \frac{3\mu}{2} \right), & \text{if } \mu \leq \varepsilon_4 \\ \frac{\gamma H_1}{6}, & \text{if } \varepsilon_4 \leq \mu \leq \varepsilon_5 \\ -\frac{\gamma H_2}{6} - \frac{\gamma^2 H_1^2}{6} \left(1 - \frac{3\mu}{2} \right), & \text{if } \mu \geq \varepsilon_5 \end{cases}$$

In addition, if $\varepsilon_4 \leq \mu \leq \varepsilon_6$, then we get

$$|a_3 - \mu a_2^2| + \frac{2}{3\gamma H_1^2} [H_1 - H_2 - \gamma H_1^2 (1 - \frac{3\mu}{2})] |a_2|^2 \leq \frac{\gamma H_1}{6}$$

and if $\varepsilon_6 \leq \mu \leq \varepsilon_5$, then we get

$$|a_3 - \mu a_2^2| + \frac{2}{3\gamma H_1^2} [H_1 + H_2 + \gamma H_1^2 (1 - \frac{3\mu}{2})] |a_2|^2 \leq \frac{\gamma H_1}{6}.$$

The inequality is sharp.

3. Conclusion

By suitably choosing the parameters, one can further easily obtain a number of coefficient inequalities from the main results. Moreover, the classes $\mathcal{S}_{q,\lambda,\gamma}^{\tau,m}(\varrho)$, $\mathcal{C}_{q,\lambda,\gamma}^{\tau,m}(\varrho)$ defined in this article can also be used in the investigation of various geometric properties in the unit disk.

Acknowledgement

The authors thank the referees for their concrete suggestions which resulted in a better organization of this article.

References

- [1] D. Albayrak, S. D. Purohit and F. Uçar, On q -analogues of Sumudu transforms, An. Şt. Univ. Ovidius Constanţa, 21(1) (2013), 239-60.
- [2] S.K.Q. Al-Omari, q -Analogues and properties of the Laplace-type integral operator in the quantum calculus theory, J. Inequal. Appl. 2020 (2020): 203.
- [3] S.K.Q. Al-Omari, Extension of generalized Fox's H -function operator to certain set of generalized integrable functions, Adv. Difference Equ. 2020 (2020): 448.
- [4] T. Ernst, A comprehensive treatment of q -calculus, Birkhäuser/Springer Basel AG, Basel, 2012.
- [5] V. Kac and P. Cheung, Quantum calculus, Universitext, Springer, New York, 2002.
- [6] P. M. Rajković, S. D. Marinković and M. S. Stanković, Fractional integrals and derivatives in q -calculus, Appl. Anal. Discrete Math. 1 (1) (2007), 311-23.
- [7] K. A. Selvakumaran, J. Choi and S. D. Purohit, Certain subclasses of analytic functions defined by fractional q -calculus operators, Appl. Math. E-Notes 21 (2021), 72-80.
- [8] S. Abelman, K. A. Selvakumaran, M. M. Rashidi, S. D. Purohit, Subordination conditions for a class of non-Bazilevič type defined by using fractional q -calculus operators, Facta Univ. Ser. Math. Inform. 32 (2017), no. 2, 255-67.
- [9] S. D. Purohit and R. K. Raina, Certain subclasses of analytic functions associated with fractional q -calculus operators, Math. Scand. 1 (109) (2011), 55-70.
- [10] S. D. Purohit and K. A. Selvakumaran, On certain generalized q -integral operators of analytic functions, Bull. Korean Math. Soc. 52 (2015), no. 6, 1805-18.
- [11] K. A. Selvakumaran, S. D. Purohit and A. Secer, Majorization for a class of analytic functions defined by q -differentiation, Math. Probl. Eng. 2014, Art. ID 653917, 5 pp.
- [12] H. M. Srivastava, Altınkaya and S. Yalçın, Hankel determinant for a subclass of bi-univalent functions defined by using a symmetric q -derivative operator, Filomat 32 (2018), no. 2, 503-16.
- [13] H. M. Srivastava B. Khan, N. Khan, Q. Z. Ahmad, Coefficient inequalities for q -starlike functions associated with the Janowski functions, Hokkaido Math. J. 48 (2019), no. 2, 407-25.
- [14] H. M. Srivastava M. Tahir, B. Khan, Q. Z. Ahmad, N. Khan, Some general families of q -starlike functions associated with the

- Janowski functions, *Filomat* 33 (2019), no. 9, 2613-26.
- [15] W. C. Ma and D. Minda, A unified treatment of some special classes of univalent functions, in *Proceedings of the Conference on Complex Analysis (Tianjin, 1992)*, 157-69, *Conf. Proc. Lecture Notes Anal.*, I, Int. Press, Cambridge, MA.
- [16] M. A. Nasr and M. K. Aouf, On convex functions of complex order, *Mansoura Bull. Sci.*, 8 (1982), 565-82
- [17] M. A. Nasr and M. K. Aouf, Starlike function of complex order, *J. Natur. Sci. Math.* 25 (1985), no. 1, 1-12.
- [18] G. Gasper and M. Rahman, Basic hypergeometric series, *Encyclopedia of Mathematics and its Applications*, 35, Cambridge Univ. Press, Cambridge, 1990.
- [19] F. M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, *Int. J. Math. Math. Sci.* (25-28) (2004), 1429-36.
- [20] B. A. Frasin, Family of analytic functions of complex order, *Acta Math. Acad. Paedagog. Nyházi. (N.S.)* 22 (2006), no. 2, 179-91.
- [21] V. Ravichandran, Y. Polatoglu, M. Bolcal, and A. Sen., Certain subclasses of starlike and convex functions of complex order, *Hacet. J. Math. Stat.* 34 (2005), 9-15.
- [22] G. Ş. Sălăgean, Subclasses of univalent functions, in *Complex analysis-fifth Romanian-Finnish seminar, Part 1 (Bucharest, 1981)*, 362-372, *Lecture Notes in Math.*, 1013, Springer, Berlin.
- [23] K. A. Selvakumaran, S. D. Purohit, Aydin Secer and Mustafa Bayram, Convexity of certain q -integral operators of p -valent functions, *Abstract and Applied Analysis*, 2014 (2014), Article ID 925902, 7 (pp).
- [24] T. M. Seoudy and M. K. Aouf, Coefficient estimates of new classes of q -starlike and q -convex functions of complex order, *J. Math. Inequal.* 10 (2016), no. 1, 135-45.